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® 6.3 + 0.09 = 1.8 =+ 0.2 =
@ 27 + 009 = @ 140 + 0.2 =
® 27 + 0.03 = 0.2 =+ 0.05 =
@ 0.15 + 0.03 = @ 12 =+ 002 =
® 490 -+ 0.7 = @@ 56 -+ 0.7 =
® 21 = 03 = @ 72 <+ 0.08 =
@ 25 =+ 0.05 = @ 1.5 =+ 0.05 =
2.4 + 0.8 = @ 32 + 004 =
@ IO + 0.05 = @ 1.6 + 08 =
0.6 + 0.2 = ®» 1.6 + 002 =
@ 24 <+ 03 = ® 450 <+ 0.5 =
® 4 + 005 = @ 54 <+ 0.9 =
® 7.2 + 009 = 4.8 + 0.8 =
@ 4 + 08 = @ 1.2 <+ 0.04 =
® 04 + 02 = 450 + 0.9 =




MDY E 0

/30

BOROLYEELELL),

® 63 = 0.09 = 70 1.8 = 0.2 = q

@ 27 =+ 0.09 = 300 @ 140 + 0.2 = 700
® 27 =+ 0.03 = 900 0.2 + 0.05 = 4

@ 0.15 = 0.03 = 5 @ 12 <+ 0.02 = 600
® 490 =+ 0.7 = 700 @ 56 =+ 0.7 = 80
® 21 - 03 = 70 @ 72 + 0.08 = 900
@ 25 =+ 0.05 = 50 @ 1.5 =+ 0.05 = 30
24 + 08 = 3 ®@ 32 + 0.04 = 800
@ IO + 0.05 = 200 @ 1.6 =+ 08 = 2

0.6 + 0.2 = 3 ® 1.6 =+ 002 = 80
® 24 =+ 03 = 8 @ 450 =+ 0.5 = 900
@ 4 + 0.05 = 80 @ 54 <+ 09 = 60
® 7.2 =+ 0.09 = 80 48 + 08 = 6

@ 4 - 08 = 5 Q@ 1.2 =+ 0.04 = 30
® 04 <+ 0.2 = 2 450 =+ 09 = 500




